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2.3  Nuclear Structure; Isotopes 

 The atom consists of                  Electrons                           Protons 

                                                             Nucleus                              Neutrons 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Notice the difference between:  

Mass number: (وتونات + عدد النيوترونات ونات)أو  (عدد البر ، يكتب فوق (+عدد النيوترونات عدد الإلكبر

وري عندما يكون العنص  العنص 
ّ
ي الجدول الد

ا ولا يكتب ف 
ً
مفرد  

Atomic number: ي الذرة، ي
ونات ف  وتونات أو عدد الإلكبر ا عدد البر

ً
كتب تحت العنص عندما يكون مفرد

ي الجدول الدوري
 وفوقه ف 

Atomic mass:    ي الجدول
كتلة الذرة ب )و.ك.ذ( أو متوسط كتل النظائر تبعتها، وبنكتب تحت رمز العنص ف 

ي الصفحة الجاي(
حه بالتفصيل ف   الدوري )رح أشر

 

 

  

 



 

 

2.4 Atomic Masses and atomic mass Units (amu) 

، وقيمتها :لقياس الكتلة )و.ك.ذ(  (atomic mass unit) بما إنه الذرة صغيرة، فرح نستخدم وحدة 

 1(a.u.m)= 1/6.02x10²³ ي
 1/ Avogadro’s number grams = (a.u.m) 1 يعن 

1(a.u.m) =(1/12) carbon’s atom mass  برضو 

ي الامتحان
 
 كتلة الذرة الوحدة بنقيسها بطريقة خاصة، وبتكون معطى ف

Isotopes )ظائر
ّ
ي عدد  : )الن

 
وتونات لكن تختلف ف ونات والبر ذرات من نفس النوع لها نفس عدد الإلكبر

 النيوترونات. 

ين  و                                مثال: الكلور إله نظبر  

ون، بس الأول فيه  17بروتون و 17الثنير  فيهم  ي فيه  18الكبر
بروتون.  20نيوترون والثان   

وتونات بختلف، فأكيد  كتلتهم الذرية حتختلف:  طيب، بما إنه عدد البر  

)أول موضوع جاي بالامتحان(:  Relative Atomic Mass (Aᵣ ) ي اسمه
ي هاي الحالة، حنحسب اشر

 ف 

ا، بحيث: 
ًّ
 طريقة الحساب بسيطة جد

Relative Atomic Masses (Aᵣ )=) مجموع )كتلة كل نظير*نسبة تواجدها في الطبيعة 

 

  0.75771ونسبة تواجدها في الطبيعة  34.96885مثال على الكلور: كتلة النظير الأول للكلور              تساوي 

Relative Atomic Mass (Aᵣ ) ، احسب 0.24229ونسبة تواجده في الطبيعة  36.96590وكتلة النظير الثاني   

 الحل: 

Relative Atomic Mass (Aᵣ )= نظير*نسبة تواجدها في الطبيعة (مجموع )كتلة كل   

 ( =34.96885*0.75771( + )36.96590*0.24229) Relative Atomic Mass (Aᵣ ) 

 =35.453 ) ي الطبيعة بشكل أكبر
)أقرب إلى كتلة النظبر المتواجد ف   

 : ي ي الامتحان بيجر
 السؤال ف 

 Relative Atomic Mass (Aᵣ) ي الطبيع( 1
ة وبطلب تحسب بعطيك كتلة ونسبة تواجد كل نظبر ف   

ي الطبيعة   
وبطلب تحسب نسبة تواجد نظبر ف  Relative Atomic Mass (Aᵣ) بعطيك ( 2  

جع للنوعير  السابقير    الأسئلة وان تنوعت فهي ببر

ي الطبيعة =
ي حال ما أعطاك نسبة من النسب بتطلعها من  1% أو 100تذكر: مجموع نسب تواجد النظائر ف 

)ف 

%(100أو  1طرح النسب التانية من   

Solved past paper questions ي حعلق بملاحظات مهمة(  
ي حلي لأن 

)احص  الفيديو ف  : 

1) Given the following data for a sample of magnesium, find Relative Atomic Mass: 

Isotope                                               Mass(aum)                             Fractional abundance 

²⁴Mg                                                    23.9850                                   0.5841 

²⁵Mg                                                    24.9858                                   0.1000 

²⁶Mg                                                    25.9826                                   0.3159 

a)24.72                  b)24.30                    c)24.80                        d)24.64                   e)24.44 

answer: (23.9850 x 0.5841) + (24.9858 x 0.1000) + (25.9826 x 0.3159)= 24.71612  

we round answer = 24.72 so the correct answer is a )اجر نفس السؤال مرتير  عل نفس العنص( 

  

 



 

 

2) The atomic mass of ³⁵Cl and ³⁷Cl are 34.96885 and 36.96590, if the Relative Atomic 

Mass of Cl = 35.453, calculate the natural abundance )ي الطبيعة
 
 :of ³⁷Cl )نسبة تواجد ف

a)98.61%              b)24.75%                c)1.39%                        d)75.25%               e)51.65% 

answer: 

Aᵣ = (34.96885 x natural abundance of ³⁷Cl) + (36.96590 x natural abundance of ³⁵Cl) 

35.453= (34.96885 x natural abundance of ³⁷Cl) + (36.96590 x natural abundance of ³⁵Cl) 

We know that 100% = natural abundance of ³⁷Cl + natural abundance of ³⁵Cl 

100% - natural abundance of ³⁷Cl = natural abundance of ³⁵Cl 

so 35.453= (34.96885 x natural abundance of ³⁷Cl) + (36.96590 x (100% - natural abundance of ³⁷Cl)) 

by solving the equation natural abundance of ³⁷Cl =24.75% so answer is b 

 طبيعة السؤالير  الجايير  نادر ما ييجوا بس بما انهم وردوا قبل هيك فحنحلهم 

3)For the isotope              . The number of protons and neutrons are:  

a)27 and 59          b)27 and 32          c) 32 and 27              d) 59 and 27            e)32 and 59 

answer:  

Z (atomic number) = number of protons = 27 

A (mass number) = number of protons + number of neutrons =59 

number of neutrons = 59 – number of protons 

no. neutrons = 59 – 27 = 32 so answer is b 

4)The element oxygen consist of three naturally occurring isotopes: ¹⁸O, ¹⁷O, ¹⁶O. the Aᵣ of 

oxygen is 16.00 amu. What can you learn about the relative abundance of these isotopes? 

(atomic mass of ¹⁶O = 16.0, ¹⁷O = 17.0, ¹⁸O = 18.0 aum) 

a) More than 50% of all oxygen isotopes are ¹⁷O 

b) The abundances of ¹⁷O and ¹⁸O are very small 

c) Almost all oxygen atoms are ¹⁷O 

d) All isotopes have equal abundance of 33.3% 

answer: b because Aᵣ is very very close to the atomic mass of ¹⁶O, so mostly O is ¹⁶O 

An solved question from the book: 

 

 

 

 

 

 

 

 

 

 

 



 

 

2.8 Naming simple compounds )  )سؤالير  دائمير 

Cations : Positively charged ions Formed from metals that lost electrons 

Anions: Negatively charged ions Formed from non-metals that gained electrons 

 Charges of ions:  

1. Groups (1,2,3) in periodic table and some transition elements makes charges  = the 

group number. 

Example: Na¹⁺, Mg²⁺ ,Al³⁺. 

2. Most non transition element have more than one charge. 

Example: Fe²⁺ and Fe³⁺, Cu⁺ and Cu²⁺. 

 

 

 

 

3.Some metallic elements that have high atomic number have more than one charge: 

 (i) Common cations, charge = (group number – 2)  

(ii) Charge = group number. 

 Example (Pb): common ion Pb²⁺ in addition to Pb⁴⁺ 

4.nonmetallic main-group element = (group number – 8) 

Example: O²⁻ as oxygen is in 6th group (6-8= -2) 

5. Group ion  ي مع بعض وبتفاعلوا ككتلة وحدة والهم شحنة ثابتة، بدنا نحفظ شحنات بعضهم()مجموعات بتيجر  

Mercury (I) or mercurous              Hg₂²⁺     /  Ammonium                                       NH₄⁺ 

Phosphate                                         PO₄³⁻    /   Monohydrogen phosphate           HPO₄²⁻ 

Dihydrogen phosphate                   H₂PO₄⁻ /   Nitrite ion                                         NO₂⁻ 

Nitrate ion                                         NO₃⁻     

وم واليود زي الكلور بالضبط،لكن بدال كلمة ب نسمي البر  

     chlor منحط: 

iod لليود 

brom وم  للبر

BrO⁻                          hypobromite ion :مثال 

 

 

 

 

 

 

 

Brرمز البروم 

I  رمز اليود 

 





 

 

Calcium hydroxide Ca(OH)₂                                     Manganese(II) bromide MnBr₂ 

Ammonium phosphate (NH₄)₃PO₄                         Mercury(I) Fluoride Hg₂F₂  

Mercury(II) Fluoride HgF₂                                         Mercury(I) nitride (Hg₂)3N₂ 

Iron(II) phosphate Fe₃ (PO₄ ) ₂                                 Titanium(IV) oxide TiO₂  

Thallium(III) nitrate Ti(NO₃)₃                                    Mg3N₂ : magnesium nitride 

 CrSO₄ : chromium(II) sulfate                                   PbCrO₄ : Lead(II) chromate  

FeCl₂ : Iron (II) chloride                                             FeCl₃ : Iron (III) chloride 

 Cr₂S₃ : chromium(III) sulfide Metal                       K₂O potassium oxide  

 NH₄ClO₃ ammonium chlorate                               Mg(C₂ H₃O₂ ) ₂ magnesium acetate 

 Cr₂O₃chromium(III) oxide                                        ZnBr₂ zinc bromide 

Calcium hydroxide Ca(OH) ₂                                     Manganese(II) bromide MnBr₂ 

Ammonium phosphate (NH₄ ) ₃PO₄                      Mercury(I) Fluoride Hg₂F₂  

Mercury(II) Fluoride HgF₂                                        Mercury(I) nitride (Hg₂ )3N₂ 

 Iron(II) phosphate Fe₃ (PO₄ ) ₂                              Titanium(IV) oxide TiO₂  

Thallium(III) nitrate Ti(NO₃) ₃                        CoCl2.6H2O cobalt(II) chloride hexahydrate 

 

لقدام(: نحتاجهابس ب الا نادرًا بيجي عليها سؤال زي هيكآخر موضوع في الوحدة، وزن المعادلات )ما   

 ترتيب العناصر في الوزن :

. العناصر اللي مش متواجدة في مركبين بنفس الجهة 1  

. العناصر اللي في مركبين او اكتر من نفس الجهة 2  

. الأكسجين 3  

. الهيدروجين4  

 أمثلة:

1)H₃PO₃  H₃PO₄ + PH₃ 

answer:    4H₃PO₃  3H₃PO₄ + PH₃ 

2) Ca + H₂O  Ca(OH)₂  + H₂ 

answer: 2Ca + H₂O  2Ca(OH)₂  + H₂ 

3) C₄H₁₀ + O₂  CO₂ + H₂O 

answer: 2C₄H₁₀ +13O₂  8CO₂ + 10H₂O 

4) O2 + PCl3 POCl3 

answer: O₂ + 2PCl₃ 2POCl₃ 

 

 

 

 



 

 

Past paper questions on naming compounds: 

1)The correct name for the compound N₂O₅ is 

a)Dinitrogen pentoxide             b)Dinitrogen trioxide            

c)Nitrogen oxide                         d)Dinitrogen monoxide             

e)Dinitrogen tetroxide 

2)The correct formula for titanium(IV) nitrate is 

a)TiNO₃              b) TiNO₂             c) Ti₄NO₃              d) Ti(NO₃)₄            

e) Ti(NO₂)₄ 

3) The correct name for Ni(BrO₃)₂ is: (Ni is a transition metal) 

a) Nickel (II) bromate                           b) Nickel (II) hypobromite                   

c) Nickel (II) perbromate                     d) Nickel (IV) bromite           

e) Nickel (IV) hypobromite 

4) The correct name for SO₃ is: 

a) Sulfur monoxide         b) Sulfur trioxide      c) Sulfur(IV) oxide    

d)sulfur oxide 

5) Choose the correct name for CoBr₂ 

a) cobalt dibromide        b) dibromo cobalt    c) Cobalt bromide      

d)cobalt(II)bromide 

6)Write the correct formula of tetraphosphorous trisulfide: 

a) P₂(SO₃)₄      b)P₄S₄         c)PS₄             d)P₄S₃          e) S₃ P₄ 

7)What is the correct name for the compound Co₃(PO₄)₂: 

a)Cobalt phosphate                   b)Cobalt (II)phosphate       

c)Cobalt (II)diphosphate          d)Cobalt (II)phosphite        

e)tricobalt diphosphate 

8)Which of the choices is the formula of Hydrobromic acid? 

a)Kbr               b)HBr             c) HBrO             d)HBrO₂              e) HBrO₃ 

Answer:  1)a    2)d    3)a     4)b     5)d     6)d     7)b     8)b 



 

 

Short exam on chapter 2 
Note: all these questions are from past papers! 

1.Mg has three stable isotopes. Given a sample of Mg with these masses, find (Aᵣ)  

²⁴Mg: 23.9850 amu,70.42% /²⁵Mg: 24.9858 amu, 15.22%/²⁶Mg: 25.9826 amu, 14.36%: 

a)24.31           b)24.66           c)24.82          d)24.54          e)24.42 

2) which of the following combinations of name-formula is not correct? )سؤال فخم( 

a) Ammonium bicarbonate, NH₄HCO₃                                       b)Nitric acid HNO₃ 

c)Sodium chlorate, NaClO₂                                                           d)Calcium hydride, CaH₂ 

e)Dichlorine trioxide, Cl₂O₃ 

3)Which of these choices is the formula for bromous acid? 

a)KBr               b)HBr             c)HBrO            d)HBrO₂         e)HBrO₃ 

4)after balancing the following reaction: 

(X)CCl₄ + SbF₃  (Y)CCl₂F₂ + SbCl₃ 

The ratio of (X/Y) is equal to  

a) 3/2              b)4/2             c)2/2                d)6/2          e)3/3 

ي انه ليس لها عوامل، فلا تتخربط   
ي المركبات لا يعن 

 ملاحظة مساعدة: عدم وجود رموز عند بافر

answers: 1)e   2)c   3)d    4)e 

  

 

 بعض المناهي اللفظية: 

عن أبي هريرة أن النبي صلى الله عليه وسلم قال: "لا تحلفوا  
بآبائكم ولا بأمهاتكم ولا بالأنداد ولا تحلفوا بالله 

 إلا وأنتم صادقون"

عن ابن عمر رضي الله عنهما أن النبي صلى الله عليه وسلم قال: "من 

 حلف بغير الله فقد كفر أو أشرك"




